
 

 
III Semester B.Com (CBCS) Commerce –Practice Paper – Feb   2021 

Subject: Business Data Analysis      Marks 70 
Note: 1. All sections are compulsory 2. Illustrate wherever necessary 

SECTION – A 
(Answer any FIVE Questions Sub question. Each Sub-question carries 2 marks)(02x05=10 Marks) 

 

Distinguish between parameter and statistics

State the components of time series

If bxy= 0.8.2 byx=1 obtain r

What is meant by positive correlation?

State the uses of interpolation
SECTION – B 

(Answer any THREE questions Sub question. Each Sub-question carries 6 marks)   (3x6=18 Marks ) 

From  the following data estimate sales for the year 2005 
Year 1995 1997 1999 2001 2003 2005 2007 

Sales (000)Rs 20 50 80 110 140 --- 200 
The following table shows the mean and SD of prices if two shares in a stock 
exchange. 

Shares Mean (Rs) S.D (Rs) 
A Ltd 40 11 
B Ltd 48 16 

 If the correlation coefficient between the prices of two shares is 0.42. Find 
the most likely price of share A Ltd, corresponding to price of Rs. 65 of share 
B Ltd
From the following table find correlation co-efficient between age and 
percentage of player of students 

Age (Yrs) 20 21 22 23 24 

SRI BHAGAWAN MAHAVEER JAIN EVENING COLLEGE 
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% of Players 70 50 40 30 10 

SECTION – C 
(Answer any three Questions Sub question. Each Sub-question carries 14 marks) (3x14=42Marks ) 

. From the following table find the number of students who have obtained 
less than 55 marks using Newton’s method 

Year 20-30 30-40 40-50 50-60 60-70 
Exports(Lakhs) 31 42 51 35 31 

 

 

 



 

 

 
III Semester B.Com (CBCS) Commerce – MODEL QP – Feb  2021 

Subject: Financial management Max Marks:

Note: 1. All sections are compulsory                                                         2. Illustrate wherever necessary 
SECTION – A 

Answer any five Sub questions. Each Sub-question carries 2 marks                           02x05=10 Marks  
What is financial management? 

What is profit maximization 

Define time value of money 

What is financing decision? 

What is pay back period? 

What is capital budgeting 

State the types of working capital  

SECTION – B 
Answer any three Questions. Each question carries 5 marks                                              03x5=15 Marks  

What is financial management? Explain the goals of financial management 

Miss. Suman opens a recurring deposit account in India Bank for a period of four years 
and deposits an equal sum of Rs 10,000 end of every year. The bank pays her an interest 
of 10% per annum compounded annually for next four years. Miss Suman wants to know 
what would be the balance in his account after 4 years. 

Sun company has sales of Rs 60,000 variable cost of Rs 20,000, fixed cost of Rs 10,000 
and debt of Rs 30,000 at 10% rate of interest. Calculate operating, financial, operating and 
combined leverages. 
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SECTION – C 
Answer any three Questions. Each question carries 14 marks                                           03x15=45 Marks  

Discuss the role of financial manager. 

Explain the determinants of capital structure  

ABC company is capitalized with Rs 10,00,000 comprising of Rs 1,00,000 equity shares 
of Rs 10each. The management is planning to raise another Rs 10,00,000 to finance its 
growth program me. There are four possible financing plans which are given below: 

a. All 10,00,000 through issued of 1,00,000 shares of Rs 10each. 
b. Rs 5,00,000 in equity and the balance in debentures carrying 10% interest, 
c. Entire 10,00,000 through debentures carrying 8% interest 
d. Rs 5,00,000 in equity and Rs 5,00,000 through preference shares carrying 10% 

dividend 

 The anticipated operating profit after expansion programmes amount to Rs 2,40,000. 
The company is subject to 50% tax bracket. You are required to advice the management 
in choosing appropriate capital structure plan on the the basis on EPS 

Venkey and co is considering the purchase of machine. The Machine X and Machine Y 
each costing Rs 50,000 are available. Earnings after taxation are expected to be as under. 

years Machine X Machine Y Discount factor at 
20% 

1 
2 
3 
4 
5 
 

15,000 
20,000 
25,000 
15,000 
10,000 

5,000 
15,000 
20,000 
30,000 
20,000 
 

0.9091 
0.8264 
0.7513 
0.6830 
0.6209 

Evaluate the two alternatives according to  

 Payback period 
 Return on investment method 
 Net present value method  

 

Explain the factors affecting work capital? 



 

 
III  Semester B.Com (CBCS) Commerce – Model question paper  

Subject: Corporate Accounting      Max Marks:

SECTION – A 
Answer any five Sub questions. Each Sub-question carries 2 marks           02x05=10 Marks 

SECTION – B 
Answer any three Questions. Each question carries 6 marks                         05x6=15 Marks 
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₹ 

₹

₹ 

₹ 
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SECTION – C 
Answer any three Questions. Each question carries 14 marks  03x15=45Marks  

MV Company limited has a nominal capital of ₹ 4, 00,000 in Ordinary Shares of ₹ 10 

each. Of these 30,000 shares were issued to the public. The amount was payable as 

follows: 

₹ 

₹ 

₹ 
Pass the necessary journal entries to record the above transaction in the books of companies



 

 
 
 
 

 

 
 

 
 
 
 



 

 
 
 



 

 

 

III Semester B.Com Mock Test  

Science and Society 

Max Marks: 70 

1) Darwinism is a theory of- 
a) Geometric evolution 
b) Physical evolution 
c) Biological evolution 
d) None of these 
 

2) NDDB means 
a) National Daily Development Board 
b) National Dairy Development Board 
c) National Daily Developing Board 
d) National Development Dairy Board 

 
3) 1st life on earth was 

a) Chemohetrotrophs 
b) Cyanobacteria 
c) Autotrophs 
d) Photoautotrophs 

 
4) The theory that evolutionary change is slow and continuous is known as 

a) Punctuated equilibrium 
b) Geographic isolation 
c) Speciation 
d) Gradualism 

 
5) Which of the following is a living fossil? 

a) Mirabilis jalapa 
b) Gingko bilpba 
c) Pinus longifolio  
d) Dalbergia sissoo 
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6) Which sector is the backbone of Indian economy? 

a) Service Sector 
b) Financial Sector 
c) Tourism  Sector 
d) Agriculture  Sector 

 
7) The concept that species have changed over long periods of time is known as  

a) Ecology 
b) Organic evolution 
c) Embryology 
d) Spontaneous generation 

 
8) Who announced the introduction of National Food Security Act? 

a) Pranab Mukherjee 
b) Manmohan Singh 
c) P.Chidambaram 
d) Arun Jaitely 

 
9) DES means 

a) Department  of  Ecology and Statistics 
b) Department  of  Economics and Statistics 
c) Department  of  Ergonomics and Space 
d) Department  of  engineering and Science 

 
10)  Which group of organisms is believed to be among the earliest to evolve on earth? 

a) Arthropods 
b) Coelenterates 
c) Protozoans 
d) Reptiles 

 
11)  The Blue revolution is related with? 

a) Fish Production 
b) Food grain production 
c) Oilseed production 
d) Milk production 

 
12)  Which of the following is considered to be bacteriostatic? 

a) Penicillin 
b) Chloramphenicol 
c) Ciprofloxacin 



d) Cefoxitin 
 

13)  Green revolution in India was the outcome of the efforts of whom amongst the following? 
a) C.Rangrajan 
b) K.V.Kamath 
c) Rakesh mohan 
d) M.S.Swaminathan 

 
14)  Soap is a salt of a 

a) Fatty acid 
b) Amino acid  
c) Citric acid 
d) None of these 

 
15)  Who announced the launch of Rashtriya Krishi Vikas Yojana? 

a) Narendra Modi 
b) Dr.Manmohan Singh 
c) Atal Bihar Vajpayee 
d) I.K. Gujral 

 
16)  Fats and oils are composed of 

a) Triglycerides 
b) Glycosides 
c) Both A and B 
d) None of these 

 
17)  Who is known as father of White revolution in India? 

a) M.S.Swaminathan 
b) V.Kurein 
c) K.N.Bahal 
d) B.P.Pal 

 
18)  The first soap was discovered by mixing 

a) Animal fats 
b) Wood ash 
c) Water 
d) All the above 

 

 
19)   Which Indian state has the largest area irrigated by water tanks, as per 2010? 

a) Uttar Pradesh 



b) Karnataka 
c) Tamil nadu 
d) Andhra Pradesh  

 
20)  Enzyme presoaks are used for soaking items before washing to remove 

a) Difficult stains 
b) Soils  
c) Both  
d) None of these 

 
21)  Which is the biggest milk plant in India? 

a) Verka milk plant  
b) Mother dairy 
c) Burnutt dairy 
d) Lorenae dairy 

 
22)  Creation of automatic dish washers powders, fabric softeners? 

a) 1950s 
b) 1960s 
c) 1970s 
d) 1980s 

 
23)  Which of the following is a human made input of agriculture? 

a) Relief of the land 
b) Crops  
c) Earth worms 
d) Irrigation facilities 

 
24)  Polymers are large molecules composed of ______chemical units. 

a) Repeated  
b) Enhanced 
c) Less 
d) None 

 
25) Which is known as golden fiber? 

a) Cotton 
b) Wheat 
c) Jute 
d) Silk 

 
26)  Who announced in 1907, the synthesis of the first truly synthetic polymeric material? 

a) Leo Baekeland 
b) Goodyear  



c) Darwin 
d) None of these 

 
27) The two most important staple food crops of the world are _______&________ 

a) Ragi and Bajra 
b) Tea and coffee 
c) Rice and wheat 
d) Millets and maize 

 
28)  First truly synthetic polymeric material 

a) Bakelite 
b) Neoprene 
c) Nylon 
d) PVC 

 
29)  It is also known as “Mono culture” i.e. single crop grown over a large area 

a) Commercial gran farming  
b) Multiple forming 
c) Mixed farming 
d) Plantation farming 

 
30)  Neoprene was found by  

a) Arnold Collins 
b) Lorenz  
c) Goodyear 
d) Cornell 

 
31)  Which one is not a millet crop 

a) Wheat  
b) Jowar 
c) Ragi 
d) Bajra 

 

 

32) Various uses of polymers are: 
a) Elastomers 
b) Plastics 
c) Fibers 
d) All the above 

 
33)  Cultivation of grapes is also known as ________ 



a) Viticulture 
b) Horticulture 
c) Sericulture 
d) Pisciculture 

 
34)  Which state is the biggest tea producer in the country? 

a) Andhra Pradesh 
b) Sikkim 
c) Assam 
d) West Bengal 

 
35)  Nylon was found by 

a) Dupont 
b) Eugen Boumann 
c) Heisenberg 
d) Mayor 

 
36)  The gene revolution is the application of ______in food production. 

a) Bio technology 
b) Technology 
c) Both  
d) None 

 
37)  ______ is used to extract metal like thorium, vanadium and zirconium from there 

compounds by displacement reactions , a deoxidizers 
a) Calcium carbonate  
b) Alcohols  
c) Calcium  
d) Alkenes 

  

 

 

38)  The information revolution started around 
a) 1000 BC 
b) 1500 BC  
c) 2000 BC 
d) 3000 BC 

 
39)  Moderators are used in the nuclear reactors to 

a) Accelerate the neutrons 



b) Slow down the neutrons 
c) Absorb neutrons 
d) Produce neutrons 

 
40)  PVC was initially found by German chemist_____ in 1872, 

a) Albert Einstein 
b) Chadwick  
c) Goodyear 
d) Eugen Boumann 

 
41)  Internet works on  

a) Circuit switching  
b) Packet switching  
c) Both a and b  
d) None 

 
42)  Which of the following is the best nuclear fuel? 

a) Neptunium 293 
b) Uranium 236 
c)  Plutonium 239 
d) Thorium 236 

 
43)  Which one of the following is not an application layer protocol used in internet? 

a) Remote procedure call 
b) Internet relay chat 
c) Resource reservation protocol 
d) None of these 

 
44)  Which protocol assigns IP address to the client connected in the internet? 

a) DHCP 
b) RPC 
c) IP 
d) None of the mentioned 

 
45)  Which one of the following is not used in media access control? 

a) Ethernet 
b) Digital subscriber line 
c) Fiber distributed data interface 
d) None of the mentioned 

 
46) TCP/IP is a: 

a) Network Hardware 
b) Network Software 



c) Protocol 
d) None of these 

 
47)  OSI stands for: 

a) Open System Interface 
b) Out System Interface 
c) Open system Interconnection 
d) Out System interconnection 

 
48)  TCP/IP mainly used for: 

a) File transfer 
b) Email 
c) Remote login service 
d) All the above 

 
49) IPX/SPX used for: 

a) Linux  
b) Unix 
c) Novel net ware 
d) All the above 

 
50)  NetBIOS is developed by: 

a) Microsoft 
b) IBM 
c) Sun 
d) None of these 

 

 

51)  Which network architecture is developed by IBM? 
a) System network architecture 
b) Digital network architecture 
c) Boroughs network architecture 
d) Distributed network architecture 

 
52)  Which is the lowest layer of TCP/IP model: 

a) Host to host layer 
b) Network access layers 
c) Internet layer 
d) Application layer 

 
53)  The most common method for gaining access to internet is through a ________ 



a) Dumb terminal 
b) Virtual provider or computer 
c) Point-to-point computer 
d) Provider or host computer 

 
54)  The term ISP refers to  

a) Internal software protocol 
b) International shareware pool 
c) Internet service provider 
d) Interface standard protocol 

 
55)  The extensions .gov .edu .mil, and .net are called 

a) DNSs 
b) E-mail targets 
c) Domain codes 
d) Mail to addresses 

 
56)  URL is an acronym for ________ 

a) Uniform resource locator 
b) Uniform resource link 
c) Universal reference locator 
d) Unlimited real-time language 

 

 

 

57)  When surfing the Web, the browser interprets the HTML command found in a document 
file, and displays it as a(n) 
a) Applet page 
b) Java page 
c) Web page 
d) Domain page 

 
58)  HTML is an acronym for _________ 

a) Hyperlink markup language 
b) Hypertext markup language 
c) Hypertext markup link 
d) Hypertext modern language 

 
59)  Hyperlinks in a web document typically appear as 

a) Bolded and underlined  



b) Italicized and underlined 
c) Underlined and colored 
d) Bolded and italicized 

 
60)  Applets are typically written in a programming language called 

a) XML  
b) Basic  
c) Pascal 
d) Java 

 
61) Which of the following are not required in order to send and receive e-mail? 

a) E-mail account 
b) Web page 
c) Access to the Internet 
d) E-mail program 

 
62) Which of the following is not one of the basic elements of an e-mail message? 

a) Header 
b) Footer 
c) Message 
d) Signature 

  
63) An interne standard fortransferring files is known as 

a) IRC 
b) telnet 
c) FTP 
d) WAIS 

 
64) Which among the following is not a renewable sorce of energy? 

a) Solar energy 
b) Biomass energy 
c) Hydro-power 
d) Geothermal energy 

 
65) Photovoltaic energy is the conversion of sunlight into: 

a) Chemical energy 
b) biogas 
c) electricity 
d) Geothermal energy 

 
66) A fuel cell, in order to  produce electricity, burns: 

a) Helium 
b) Nitrogen 



c) Hydrogen 
d) None of these 

 
67) Fuel cells are: 

a) Carbon cell 
b) Nuclear cell 
c) Hydrogen battery 
d) Chromium cell 

 
68) Which of the following area is preferred for solar power planys? 

a) Coastal areas 
b) Hot arid zones 
c) Mountain tops 
d) High rainfall zones 

 
69) Climate change is primarily caused by the building up of _____in the atmosphere. 

a) Green House gases 
b) CO2 
c) Nitrogen 
d) None 

 

 
70)  Global warming is a specific example of the broader term 

a) Climate change  
b) Environment change 
c) Soil erosion 
d) Health change 

 

 

 

 



 
²æÃ s̈ÀUÀªÁ£ï ªÀÄºÁ«Ãgï eÉÊ£ï À̧AeÉ PÁ É̄ÃdÄ 

C.£À.PÀÈμÀÚgÁAiÀÄ gÀ Ȩ́Û, «±ÉéÃ±ÀégÀ¥ÀÄgÀA, É̈AUÀ¼ÀÆgÀÄ – 560004 
(¨ÉAUÀ¼ÀÆgÀÄ £ÀUÀgÀ «±Àé«zÁå®AiÀÄ¢AzÀ C£ÀÄªÉÆÃzÀ£ÉUÉÆ¼À¥ÀànÖzÉ) 

 ©.PÁA. ªÀÄÆgÀ£ÉÃ ¸É«Ä À̧Ögï,     ªÀiÁzÀj ¥Àæ±Éß¥ÀwæPÉ – 2021  
¸ÀªÀÄAiÀÄ: 3 UÀAmÉUÀ¼ÀÄ        «μÀAiÀÄ: PÀ£ÀßqÀ                 CAPÀUÀ¼ÀÄ – 70 

 
I. ¨sÁªÁxÀðªÀ£ÀÄß §gÉ¬Äj 

§mÉÖAiÀÄ°è ºÉÆ£ÀÄß ªÀ¸ÀÛæ ©¢ÝzÀÝgÉ  
£Á£ÀÄ PÉÊªÀÄÄnÖ JwÛzÉ£ÁzÀgÉ  
¤ªÀiÁäuÉ ¤ªÀÄä ¥ÀæªÀÄxÀgÁuÉ  
CzÉÃ£ÀÄ PÁgÀtªÉAzÀgÉ ¤Ã«QÌzÀ ©üPÀëzÀ°è¥Éà£ÁV  
EAvÀ®èzÉ £Á£ÀÄ C½ªÀÄ£ÀªÀ ªÀiÁr  
¥ÀgÀzÀæªÀåPÉÌ D Ȩ́ ªÀiÁrzÉ£ÁzÀgÉ,  
¤Ã£ÁUÀ̄ ÉÃ J£Àß £ÀgÀPÀzÀ°è C¢Ý  
¤Ã£ÉzÀÄÝ ºÉÆÃUÁ ±ÀA s̈ÀÄdPÉÌÃ±ÀégÁ 
 

(C) JgÀqÀÄ «μÀAiÀÄUÀ½UÉ n¥ÀàtÂ §gÉ¬Äj     2*2 = 4 
 C®èªÀÄ¥Àæ̈ sÀÄ, ªÀ̧ ÀÄzÉÃAzÀæ, PÉ.¦ ¥ÀÇtðZÀAzÀæ vÉÃd¹é, ªÉÊzÉÃ», £ÁUÀwºÀ½î ZÀAzÀæ±ÉÃRgï  

 (D) PÉ¼ÀV£À MAzÀÄ ¥Àæ±ÉßUÉ «ªÀgÀªÁV GvÀÛj¹.     10*1 = 10 

1. ªÀZÀ£ÀUÀ¼À°è PÀAqÀÄ §gÀÄªÀ ¸ÁªÀiÁfPÀ «qÀA§£ÉAiÀÄ£ÀÄß «ªÀÄ²ð¹. 

2. ‘¥ÉªÉÄðAiÀÄ ©lÄÖ ¤ªÀÄð®ªÀÄwAiÀiÁUÀÄ’ JAzÀÄ ¸Á¢üé ºÉÃ½zÀ »£Àß É̄AiÀÄ£ÀÄß «ªÀj¹. 

II (C) JgÀqÀÄ «μÀAiÀÄUÀ½UÉ n¥ÀàtÂ §gÉ¬Äj     2*5 = 10 

1. KPÀªÀåQÛ ªÀgÀ¢AiÀÄ ªÀiÁzÀj 
2. ¸ÀAWÀ ¸ÀA¸ÉÜAiÉÆAzÀgÀ ªÁ¶ðPÀ ªÀgÀ¢ 

3. ¥ÀwæPÁ ªÀgÀ¢UÀ¼À s̈ÁμÉ ªÀÄvÀÄÛ ¤gÀÆ¥ÀuÁ PÀæªÀÄ 

4. ªÀVÃðPÀÈvÀ eÁ»ÃgÁvÀÄ 
 

(D) PÉ¼ÀV£À MAzÀÄ ¥Àæ±ÉßUÉ «ªÀgÀªÁV GvÀÛj¹.     10*1 = 10 

 1. £ÀUÀgÀzÀ UÀæAxÁ®AiÀÄUÀ¼À ¸Ë® s̈ÀåªÀ£ÀÄß À̧ÄzsÁj À̧ÄªÀ §UÉÎ vÀdÕgÀ À̧«Äw À̧PÁðgÀzÀ  ªÀÄÄRå 
 PÁAiÀÄðzÀ²ðUÀ½UÉ ¤ÃrzÀ À̧«Äw ªÀgÀ¢AiÀÄ£ÀÄß vÀAiÀiÁj¹. 

 2. ºÉÆ À̧ PÀA¥À¤AiÀÄ ªÀÄ À̧ÆzÉAiÀÄ D±ÀAiÀÄUÀ¼ÀÄ AiÀiÁªÀÅªÀÅ ªÀÄvÀÄÛ ¤ÃjÃPÉë K£ÀÄ? 



 

 

III. (C) PÉ¼ÀV£À MAzÀÄ ¥Àæ±ÉßUÉ À̧AQë¥ÀÛªÁV GvÀÛj¹.     5*1 = 5 

1. UÉÆÃ¥ÀtÚ ªÀiÁ À̧ÛgÀjUÉ ‘¥ÀgÀQÃAiÀÄ s̈ÁªÀ£É’ ªÀÄUÀ£À ªÀÄ£ÉAiÀÄ°è PÁt®Ä PÁgÀtªÉÃ£ÀÄ? 
2. ±ÀÄ s̈Á DAnAiÀÄ À̧é̈ sÁªÀ JAvÀºÀzÀÄÝ? 
3. Q«AiÀÄ ²PÁjAiÀÄ£ÀÄß PÀÄjvÀÄ §gÉ¬Äj. 

 
(D) PÉ¼ÀV£À MAzÀÄ ¥Àæ±ÉßUÉ «ªÀgÀªÁV GvÀÛj¹.     10*1 = 10 

 1. zÁgÀ¢AzÀ £ÀÄ À̧Ä½PÉÆAqÀÄ ‘GqÀÄ’ PÁr£ÉÆ¼ÀUÉ ¥ÀgÁjAiÀiÁzÀ WÀl£É AiÀÄ£ÀÄß «ªÀj¹. 

 2. MUÀlÄ PÀxÉAiÀÄ ¸ÁgÁA±ÀªÀ£ÀÄß ¤gÀÆ¦¹. 

IV. (C) PÉ¼ÀV£À MAzÀÄ ¥Àæ±ÉßUÉ À̧AQë¥ÀÛªÁV GvÀÛj¹.     5*1 = 5 

1. ‘ºÀ½îUÀ¼ÀÄ §jzÁUÀÄwÛzÀÝAvÉ £ÀUÀgÀUÀ¼ÀÄ PÉÆ¼ÀUÉÃj’AiÀiÁUÀÄwÛªÉ ºÉÃUÉ? ¤gÀÆ¦¹. 
2. PÀÄªÉA¥ÀÅ ªÀiÁ£À¥Àà£À£ÀÄß ªÀÄzÀÄªÉUÉ ºÉÃUÉ M¦à¹zÀgÀÄ? 
3. É̄ÃRPÀjUÀÆ ¹UÀgÉÃnUÀÆ EzÀÝ ¸ÀA§AzsÀ JAvÀºÀzÀÄÝ? 

 
(D) PÉ¼ÀV£À MAzÀÄ ¥Àæ±ÉßUÉ «ªÀgÀªÁV GvÀÛj¹.     10*1 = 10 

 1.  aÃ£ÁzÀ ºÀ½îUÀ¼À zÀÄUÀðwAiÀÄ£ÀÄß GzÁºÀgÀuÉAiÉÆA¢UÉ «ªÀj¹. 

 2. PÉÆ£ÉUÀÆ CrUÀgÀÄ ¹UÀgÉÃlÄ ©lÖ À̧AzÀ̈ sÀðªÀ£ÀÄß « À̧Ûj¹ §gÉ¬Äj.  

 

 

 

 
 



I. 1x10=10

II 2x6=12

III. 12

IV. 1x6=6

V. 2x10=2
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III Semester B. Com (CBCS) Commerce – MODEL TEST – February 2021 

Subject: Additional English        Duration
Time: Max Marks:

Note: 1. All sections are compulsory                                                         2. Illustrate wherever necessary 
SECTION – A 

I. Answer any five questions. Each Sub-question carries 2 marks                         02x05=10  
1. Why did Malala feel proud?  02 Marks 
2. In what ways are people divided in the world?   02 Marks 
3. What does Yasodhara finally decide to do?  02 Marks 
4. How old was the Kashmiri landlady?  02 Marks 
5. Which country did Esther Kurojwa come from?  02 Marks 
II. Answer the following in a paragraph each:                                                                               03x5=15  
1. Describe the environment of how three lived in the session “No One Had Expected”  05 Marks 

2. Why do you think the speaker is unable to cry in the poem ‘When It Rains in 
Dharmasala’?  05 Marks 

3. How have different cultures become a disturbing factor to establish the world peace?  05 Marks 
III. Answer the following in about two pages:                                                                                  01x10=10  

1. “Wilshire Bus” is a disturbing story of alienation and loneliness of a migrant 
community in America. Discuss  10 Marks 

SECTION – B 
(DRAMA) 

IV. Answer the question in one paragraph: 
1. How does Chitra stand for a common woman in the play?  05 Marks 
V. answer the following in about two pages: 
1. Tagore’s ‘Chitra’ is a dramatic sermon on the theme of true love. Elaborate.  10 Marks 

 

SECTION - C 

VI. a. Write a caption for the following picture. 
  2.5x2 = 5 

Marks 

        SRI BHAGAWAN MAHAVEER JAIN EVENING COLLEGE 
        Affiliated to Bengaluru Central University  

       V V Puram, Bangalore – 560 004 

 



 
b. The BBMP has invited students to be a part of an awareness on keeping the 

environment clean for a healthy city. Prepare a caption for this campaign.  

VII. 
 
Prepare a leaflet advertising the grand opening of the local multi-cuisine 
restaurant. Include all the important details. 

 05 Marks 

VIII 

Write instructions for any ONE of the following:  
1. To prepare a cup of lime juice. 
2. To insert a SIM card into a mobile phone. 
3. How to apply for a driving licence. 

 05 Marks 

IX. 

a. Read the following paragraph and draw a diagram of your choice. 
Stress is a 21st century illness. The pressures on all of us are great because speed and 
competition a part of everyday life. Social isolation, the competitiveness of our society, 
and several other factors are responsible for stress. This is what is commonly referred to 
as a rat race. People react the rat race in different ways. Some of us get tired easily, 
others get depressed, and some others are irritable or worried, and so on. The rat race 
affects everybody in society, from teenagers to elderly people. There is always 
something that worries us. Sometimes, the stress on us is too great. We fall out of the rat 
race and have a nervous breakdown. Extreme cases of illness can lead to self-harm and 
suicide. 

OR 
b. Write a paragraph summarising the following diagram: 

 

 05 Marks 

 

************************* 



 

Third Semester B.Com (CBCS), B.Com  

General English – Language English-III 

INSIGHTS-III 

Model Question Paper 

Time - 3 Hours Max.                  Marks - 70 

Note: 1. Read the instructions carefully before answering questions. 

2. Write correct question numbers. 

SECTION-A (Job Skills-30 marks) 

1. Prepare five slides to make a presentation on the topic ‘Importance of Parks in Cities’. Slides should 
have suitable points and sub-points.               10 

II. Write a letter to The Police Commissioner, Bengaluru City, regarding reckless violation of traffic rules, 
irresponsibility in driving on the roads and lack of civic sense during lockdown in your area.               05 

III Imagine your friend is addicted to playing games on the mobile phone, disregarding his studies and 
health. How would you persuade your friend to come out of this dangerous habit? Write a paragraph of 
persuasion using the following hints:              05 

• Hazards and side-effects of excessive use of phone for gaming 

• Benefits of socialization 

• Disadvantage of using phone for games alone 

• Smart use of smartphones for studies 

OR 

Car-pooling is the best way to decongest city traffic and save time and fuel. Write a persuasive 
paragraph, appealing and persuading your friends to the use car- pooling. 

IV Answer the following questions on Social Media Skills:              05 

1. What is social media? 

2. Mention four types of social media platforms that are commonly used? 

3. What are the benefits of social media in the recent times? 

4. What is blogging? 

5. Posting insensitive comments on social media is considered rude. True/False 
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V Expand the following outline into a coherent paragraph:                  5 

An English sailor becomes a prisoner of war in Germany…….war ends……He is released……. reaches 
home….. in London……As he walks down the street one evening…….finds a bird-seller selling 
birds………buys all the cages……opens them…..sets all the birds free……giving out a message… ? 

SECTION-B (Literature Component-40 marks) 

VI Answer any five of the following in one or two sentences each:       5x2=10 

1. The men in future moved about in . 

(jeans, linen, asbestos, space suit) 

2. Why was Lula Ann's father upset in the story ‘Sweetness’? 

3. How does the stream flow as mentioned in ‘Inversnaid’?  

4.Why is the sceptre respected, according to Shakespeare?  

5.What was the trouble faced by Steve, according to Henreitta? 

6. In what way does the author define Liberty, in the essay ‘On the Rule of the Road’? 

7. Mention the qualities of the seas between India and Ceylon that tempted Mihir Sen? 

VII Answer any two of the following in about a page each selecting one from poetry:        2x 10 = 20 

1.  What preparations did the narrator make before going to sleep for two or three hundred years in the 
story ‘The Man in Asbestos’? 

2. How does the poet describe the stream and landscape in the poem ‘Inversnaid’? 

3. What exactly does freedom mean, according to Gardiner? Illustrate. 

4. What were the challenges, dangers and difficulties that a swimmer faced during the swim in the Palk 
Straits? 

VIII Answer any one of the following in about two pages:                1x10=10 

1. How does Ann's mother try to establish that she was not a bad mother in the story ‘Sweetness’? 

2. Why does the poet refer to mercy as an ‘Attribute of God’ in the poem ‘The Quality of Mercy’? 

3. ‘In spite of the hardships, there was no obstruction for his spirit and enthusiasm.’ Explain this 
statement with reference to ‘Operation Indian Ocean’. 

 
 



 
IX Answer any one of the following in about two pages:                 1x10=10 

1.Describe the obsession of Henreitta with suppressed desires and Psychoanalysis?  

2.What trick do Steve and Mabel play on Henreitta to get her out of her obsession? 3.Discuss the 
element of humour in the play ‘Suppressed Desires’? 

*********** 
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Subject: Business Regulations     Max Marks:

SECTION – A 
Answer any five Sub questions. Each Sub-question carries 2 marks                                02x05=10 Marks 

SECTION – B 
Answer any three Questions. Each question carries 6 marks                                              06x03=18 Marks 

SECTION – C 
Answer any three Questions. Each question carries 14 marks                                            14x03=48Marks  
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Time – 1-30 hours                  Max-70 
 

11. xÉqÉÏcÉÏlÉqÉÑ¨ÉUÇ  ÍcÉlÉÑiÉ                10*1=10 
 1. AjÉïzÉÉx§ÉxrÉ MüiÉÉï MüÈ?  A) MüÉæÌOûsrÉÈ   AÉ) ´ÉÏuÉåSurÉÉxÉÈ   C) pÉUiÉÈ    D) lÉÉUSÈ 
 2. AjÉïzÉÉx§Éå MüÌiÉ mÉëMüUhÉÉÌlÉ xÉÎliÉ? A) SzÉ   AÉ) LMüÉSzÉ C) A¹ÉSzÉ  D) wÉÉåQûzÉ 
 3. MüÉæÌOûsrÉxrÉ  eÉlqÉlÉÉqÉ ÌMüqÉç?  A) kÉlÉaÉÑmiÉÈ    AÉ) cÉlSìaÉÑmiÉÈ   C) AjÉïaÉÑmiÉÈ   D) ÌuÉwhÉÑaÉÑmiÉÈ 
 4. MüÉæhÉmÉSliÉÈ MüÈ?   A) pÉÏwqÉÉcÉÉrÉïÈ   AÉ) ´ÉÏuÉåSurÉÉxÉÈ   C) ClSìÈ  D) cÉlSìÈ 
 5. pÉÉU²ÉeÉÈ MüÈ?  A) ´ÉÏuÉUÈ   AÉ) SìÉåhÉÉcÉÉrÉïÈ   C) cÉlSìÈ   D) oÉ×WûxmÉÌiÉÈ 
 6. §ÉrÉÏ uÉÉiÉÉï ShQûlÉÏÌiÉ¶ÉåÌiÉ ÌuÉ±ÉÈ ÌiÉxÉë LuÉ CÌiÉ Måü uÉSÎliÉ ?  
   A) lÉÉUSÉlÉÑrÉÉÌrÉlÉÈ    AÉ) qÉlÉÑxÉqoÉÎlkÉlÉÈ  C) oÉÉWïûxmÉirÉÉÈ    D) MüÉsÉMåürÉÉÈ 
 7. §ÉrÉÏ lÉÉqÉ MüÉ?  A) §ÉÏÍhÉ zÉÉx§ÉÉÍhÉ    AÉ) §ÉrÉÉå uÉåSÉÈ   C) Ì§ÉaÉÑhÉÉÈ   D) Ì§ÉeÉlÉÉÈ 
 8. MüÉæÌOûsÉÏrÉqÉiÉå  MüÌiÉ ÌuÉ±ÉÈ?  A) ÌiÉxÉëÈ    AÉ) mÉgcÉ  C) cÉiÉxÉëÈ D) LMüÉ 
 9. AÉwÉÉåQûzÉÉiÉç uÉwÉÉïiÉç ÌMüqÉç AÉcÉUåiÉç?  A) SÉlÉqÉç   AÉ) ÌlÉrÉqÉqÉç  C) iÉmÉÈ   D) oÉë¼cÉrÉïqÉç 
 10. xÉuÉïÌuÉ±ÉlÉÉÇ mÉëSÏmÉÈ CuÉ MüÉ AÎxiÉ? A) oÉë¼mÉÑUÉhÉqÉç   AÉ) mÉgcÉiÉ¦§ÉqÉç  C) AÉluÉÏÍ¤ÉMüÐ  D) aÉÑÃmÉSåzÉÈ 
2.  AAjÉïzÉÉx§ÉxrÉ ÌuÉwÉrÉå mÉëoÉlkÉÇ ÍsÉZÉiÉ  -       - 10 
3.  ÌuÉ±ÉxÉqÉÑ¬åzÉqÉÍkÉM×üirÉ mÉëoÉlkÉqÉåMÇü ÍsÉZÉiÉ  -      - 10 
4.  zsÉÉåMü²rÉqÉlÉÔ± ÌuÉzÉSrÉiÉ  -        5*2=10 
 1. mÉëSÏmÉÈ xÉuÉïÌuÉ±ÉlÉÉqÉç EmÉÉrÉÈ xÉuÉïMüqÉïhÉÉqÉç | 
    AÉ´ÉrÉÈ xÉuÉïkÉqÉÉïhÉÉÇ zÉμÉSÉluÉÏÍ¤ÉMüÐ qÉiÉÉ || 
 2. xÉuÉåïwÉÉqÉÌWÇûxÉÉ xÉirÉÇ zÉÉæcÉqÉç AlÉxÉÔrÉÉlÉ×zÉÇxrÉÇ ¤ÉqÉÉ cÉ | 
    xuÉkÉqÉïÈ xuÉaÉÉïrÉÉlÉlirÉÉrÉ cÉ iÉxrÉÉÌiÉ¢üqÉå sÉÉåMüÈ xÉƒ¡ûUÉSÒÎcNû±åiÉ || 
 3.cÉiÉÑuÉïhÉÉï´ÉqÉÉå sÉÉåMüÉå UÉ¥ÉÉ ShQåûlÉ mÉÉÍsÉiÉÈ | 
   xuÉkÉqÉïMüqÉÉïÍpÉUiÉÉå uÉiÉïiÉå xuÉåwÉÑ uÉiqÉïxÉÑ ||  
5. uÉÉYrÉ§ÉrÉÇ xÉxÉlSpÉïÇ ÌuÉuÉ×hÉÑiÉ  -             3*3=9 
 1. xÉÉqÉ GMçü rÉeÉÑuÉåïSÉx§ÉrÉÈ §ÉrÉÏ AjÉuÉïuÉåSåÌiÉWûÉxÉuÉåSÉæ cÉ uÉåSÉÈ | 
 2. iÉÏ¤hÉShQûÉå ÌWû pÉÔiÉÉlÉÉqÉÑ²åeÉlÉÏrÉÈ | 
 3. AlÉlrÉÉÇ mÉ×ÍjÉuÉÏ pÉÑ‡åû xÉuÉïpÉÔiÉÌWûiÉå UiÉÈ | 
 4. ÌuÉlÉrÉqÉÔsÉÉå ÌWû ShQûÈ mÉëÉhÉpÉ×iÉÉÇ  rÉÉåaÉ¤ÉåqÉÉuÉWûÈ | 
6. AÉWûÉUxrÉ  ÌuÉwÉrÉå  mÉëoÉlkÉÇ  ÍsÉZÉiÉ        -        05 
7. mÉëÉhÉÉrÉÉqÉxrÉ, xlÉÉlÉxrÉ  zÉÉæcÉxrÉ  cÉ qÉWûiuÉÇ mÉëÌiÉmÉÉSrÉiÉ   -                       06  
 

***** 
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Subject: Corporate Structure & Administration    Max Marks:

SECTION – A 
Answer any five Sub questions. Each Sub-question carries 2 marks                                02x05=10 Marks 

SECTION – B 
Answer any three Questions. Each question carries 6 marks                                              06x03=18 Marks 

SECTION – C 
Answer any three Questions. Each question carries 14 marks                                            14x03=48Marks  
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